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Determine the antecedent & consequent of the
following implications:
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Antecedent Question 1 | ! 2 and 5 are factors of 10 | \o
L J bl
(Consequent Question 1 ( 2x5is 10 ‘
rAntecedent Question 2 ‘ ! The area of rectangle A is xy j C,
Consequent Question 2 : ( q-p>0 :
i ’Antecedent Question 3 \ ’ X is a whole number \
___j (Consequent Question 3 \ p<q |
L J " ’
rAntecedent Question 4 \ The perimeter of rectangle A is 2(x+y) \/\
:Consequent Question 4 : k 2x is a@ﬁlwmﬂl(s EETS
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A 1. 20% of 30is6ifandonlyif 0.2x30=6
2. M is divisible by 2 if and only if M is divisible by 2 and 10.
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